
SAP ABAP table COFIS {Actual line items for reconciliation ledger}

COFIS

RCLNT [CLNT (3)]

GL_SIRID [CHAR (18)]

RLDNR [CHAR (2)]

RVERS [CHAR (3)]

RTCUR [CUKY (5)]

RUNIT [UNIT (3)]

RBUKRS [CHAR (4)]

RACCT [CHAR (10)]

RHRKFT [CHAR (4)]

RBUSA [CHAR (4)]

RFAREA [CHAR (16)]

RLOGSYS [CHAR (10)]

SBUKRS [CHAR (4)]

SACCT [CHAR (10)]

SHRKFT [CHAR (4)]

SBUSA [CHAR (4)]

SFAREA [CHAR (16)]

SLOGSYS [CHAR (10)]

VRGNG [CHAR (4)]

KOKRS [CHAR (4)]

DOCTY [CHAR (2)]

AWTYP [CHAR (5)]

LOGSYS [CHAR (10)]

ACCOUNT [CHAR (10)]

CSKA

MANDT [CLNT (3)]

KTOPL [CHAR (4)]

KSTAR [CHAR (10)]

 COFIS-RACCT = CSKA-KSTAR 

0..N

0..N

 COFIS-SACCT = CSKA-KSTAR 0..N

0..N

SKB1

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

SAKNR [CHAR (10)]

 COFIS-ACCOUNT = SKB1-SAKNR 
0..N

1

T000

MANDT [CLNT (3)]

 COFIS-RCLNT = T000-MANDT 

0..N

1

T001

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

 COFIS-RBUKRS = T001-BUKRS 

0..N

{0,1}

 COFIS-SBUKRS = T001-BUKRS 0..N

{0,1}

T006

MANDT [CLNT (3)]

MSEHI [UNIT (3)]

 COFIS-RUNIT = T006-MSEHI 
0..N

1

T881

MANDT [CLNT (3)]

RLDNR [CHAR (2)]

 COFIS-RLDNR = T881-RLDNR 
0..N

1

T889

MANDT [CLNT (3)]

DOCTY [CHAR (2)]

 COFIS-DOCTY = T889-DOCTY 
0..N

{0,1}
TBDLS

LOGSYS [CHAR (10)]

 COFIS-LOGSYS = TBDLS-LOGSYS 

0..N0..N  COFIS-RLOGSYS = TBDLS-LOGSYS 
0..N

{0,1}
 COFIS-SLOGSYS = TBDLS-LOGSYS 0..N

{0,1} TCURC

MANDT [CLNT (3)]

WAERS [CUKY (5)]

 COFIS-RTCUR = TCURC-WAERS 

0..N

1

TFKB

MANDT [CLNT (3)]

FKBER [CHAR (16)]

 COFIS-RFAREA = TFKB-FKBER 

0..N

{0,1}

 COFIS-SFAREA = TFKB-FKBER 

0..N

{0,1}

TGSB

MANDT [CLNT (3)]

GSBER [CHAR (4)]

 COFIS-RBUSA = TGSB-GSBER 

0..N

{0,1}

 COFIS-SBUSA = TGSB-GSBER 

0..N

{0,1}

TJ01

VRGNG [CHAR (4)]

 COFIS-VRGNG = TJ01-VRGNG 

0..N

{0,1}

TKA01

MANDT [CLNT (3)]

KOKRS [CHAR (4)]

 COFIS-KOKRS = TKA01-KOKRS 

0..N

{0,1}

TKA09

MANDT [CLNT (3)]

KOKRS [CHAR (4)]

VERSN [CHAR (3)]

 COFIS-RVERS = TKA09-VERSN 

0..N

1

TKKH1

MANDT [CLNT (3)]

KOKRS [CHAR (4)]

KOATY [CHAR (2)]

HRKFT [CHAR (4)]

 COFIS-RHRKFT = TKKH1-HRKFT 

0..N

0..N

 COFIS-SHRKFT = TKKH1-HRKFT 

0..N

0..N

TTYP

AWTYP [CHAR (5)]

 COFIS-AWTYP = TTYP-AWTYP 

0..N

0..N


